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Stems modified into flat green organs performing | 94,

the functions of leaves are known as :
(1) Phylloclades

(20 Scales

(3) Cladodes

(4) Phyllodes

Which part of the tobacco plant is infected by 9.

Meloidogyne incognita ? -

(1) Stem

(2) Root

(3) Flower

4) Leaf

o . , . ] 96

Fertilization in humans is practically feasible only

if :

(1) the ovum and sperms are transported
simultaneously to ampullary - isthmic
junction of the cervix.

(2) thesperms are transported into cervix within
48 hrs of release of ovum in uterus.

(3) the sperms are transported into vagina just
after the release of ovum in fallopian tube.

(4) the ovum and sperms are transported
simultaneously to ampullary - isthmic
junction of the fallopian tube.

97.

Which of the following statements is not true for
cancer cells in relation to mutations ?

1) Mutations inactivate the cell control.
(20 Mutations inhibit production of telomerase.

(3) Mutations in proto-oncogenes accelerate the
cell cycle.

(49)  Mutations destroy telomerase inhibitor.

* Which of the following structures is homologus to | 98.

the wing of a bird ?

(1)  Hind imb of Rabbit
2 .F.lipper of Whale

(3) Dorsal fin of a Shark
(4  Wing of a Moth
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Match the terms in Column I with their description | 99, FHTA® I Tl v ! o™ 11 H fEU T 9% Foi7
in Column IT and choose the correct option : e EfRT A T T e
ColumnI ColumnII HEATI W
(&) Dominance () Many genes govern a ORELUEG! () SF S THA ST FH
single character e wE ¥
() Codominance (ii) In a heterozygous (b) HEYHIferT (i) TR Sia @ Shaw
organism only one allele - et v N
expresses itself @ A
FAR
Pleiotro iif) 1 het e
O omoRy ) ganism both ateles | © T i g o F 25
express themselves fully teftel wE &1 g8 aE
At w W ¥
(d) Polygenic (iv) Asingle gene influences . .
5 inhgfitance many characters (d) IESI Aud  (iv) THT SiF 3T A0
9 ERIERETC RS
: Code:
. Eo
a c
@ 0 0 @ L @ e e @
@ @& O @ (@ O ™ O 6@ @
@ @ @ 6 O @ @6 o
) c @ @ 6 @
@ @ ® ) () @ @ @ @) Q)
3 @ @ @m0 100. = f =R @i F TR e TR w1 W
§ 100, Which of the fol ly matched in th :
. 100, ich of the following is wrongly matched in the —
7 giventable ? T 3R I
O | gewmy (WS Tfa-afe @
Microbe Product Application | ° R
(1) [Streptococcus  [Streptokinase |removal of clot from FI T
blood vessel @)\ mirciferm o= I F y=all B g
(2) |Clostridium  |Lipase removal of oil stains T
butylicum 3 -
(3) |Trichoderma |Cyclosporin A [immunosuppressive ©) |erriem AERAA - A |wftreen Hema sty
polysporum drug LigjE2vic)
(4) |Monascus Statins lowering of blood @) | g IDfig RR-PIETA 6 1
purpureus Jcholesterol - ) J
101, Select the incorrect statement : 101. T HA H AT :
(1) LH and FSH decrease gradually during the @ LH ﬁTFSH = N - R e
follicular phase. SR |
(2) LH triggers secretion of androgens from the (@) LH e vl | T & T 9
Leydig cells. HA R v
(3)  FSH stimulates the sertoli cells which help in () FSH Weieh wifehist 1 Ko wta & W0
spermiogenesis. RIETNEEE] T WEd FE R
(49  LHtriggers ovulation in ovary. (4) LH 3iemea ¥ siSiwsi ol i s §1
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102. Which of the following is a restriction | 192 ﬁmﬁl’@aﬁ‘éﬁ?m@, Hidsew TodRgfaus.

endonuclease ? +
(1) DNasel 1) I
(2) RNase @) SRS
@ Protease @ m

103. Microtubules are the constituents of : 103. GEFfTR Heesw B € ;

) (1)  Centrioles, Spindle fibres and Ghromatin (1) O, A i ol e 3
(2) Centrosome, Nucleosome and Centrioles (2)  THR, fHRTE SR s &
() Cilia, Flagella and Peroxisomes (@) e, Fe SR weEE &
(4)  Spindle fibres, Centrioles and Cilia (4)  TEHER A, TRHER AR I

' 104, HE w9 T :
104. Select the correct statement :

Q) REzmeRaa i A Tse

1)  Sequoiais one of the tallesttrees ~F . .
™ hq 1 ) " 2 FEastst qRd H yfed Tearyg o SEd &
(2) The leaves of gymnosperms are not we aﬂﬁfaﬁ
adapted to extremes of climate ferg T Bl iﬂ'{ )
(3 Gymnosperms are both homosporous and - ) 1 N ' g T, Tl
heterosporous* TR & B ¥
(4) Salvinia, Ginkgo and Pmus all are “ ;“E A1, maﬂ-{ TE7E, A wft SRSt
gymnosperms »
105. In higher vertebrates, the immune system can 105 \ S A Rt #, W 97 -l i
distinguish self-cells and non-self. If this property "IR-wiferel § O X wwd § | i 9 o enE i
is lost due to genetic abnormality and it attacks STHMFIA ¥ HRO € O T & WY AR 9%
self-cells, then it leads to: | w-RfEl B T F0 T D 7 TRy
(1)  Auto-immune disease 7B ?
| (2  Activeimmunity (1) EiRen fqwR
. _ ()  Allergicresponse ‘ (2 wfra ufaan
1 (4  Graftrejection @) et s

@ = Ru iR RS
106. In a testcross involving F; dihybrid flies, more

; parental-type offspring were produced than the | 106, e W ¥, forad F, fwar nfwaat whv of,
i recombinant-type offspring. This indicates: TR TR H Hatdl F g § SHE-ER &

v ; 3 (1) Thetwo genes are linked and present on the wafaat sifus 3= E’ﬁ | vl g N
- 1t same chromosome. Haha firerd
' - @ A wEer ¥ oI U € g W A
il (2)  Both of the characters are controlled by more ¥
aRli than one gene. P . S ot
2 o =1 fEo
(3)  The two genes are located on two different @) e & R s
| chromosomes. |
P (@) Chromosomes failed to separate during @) WA ove R W feera ¥

! meiosis. , (@  SREE 3 SR IR U T &
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107. Which of the fdllowing statements is not correct ?

108,

109,

110.

111.

(1) Pollen germination and pollen tube growth
are regulated by chemical components of

pollen interacting with those of the pistil.
@

Some reptiles have also been reported as
pollinators in some plant species.

G

Pollen grains of many species can germinate
on the stigma of a flower, but only one pollen
tube of the same species grows into the style.

@

Insects that consume pollen or nectdr without
bringing about pollination are called
pollen/ nectar robbers.

Asthma may be attributed to :
@)
&)
@)
@

inflammation of the trachea
accumulation of fluid in the lungs
bacterial infection of the lungs

allergic reaction of the mast cells in the lungs

In context of Amniocentebsis, which of the following
statement is incorrect ?

(1)

It can be used for detection of Down
syndrome.

(@) Itcanbeused for detection of Cleft palate.

(3) Itisusually done whena woman is between
14 - 16 weeks pregnant.
(4) Hisused for prenatal sex determination.

Specialised epidermal cells surrounding the guard
cells are called : :

(1)  Bulliform cells

(@)  Lenticels

(3) Complementary cells
(4)  Subsidiary cells

Which of the following is the most important cause
of animals and plants being driven to extinction ?

(1)  Habitatloss and fragmentation

(@  Co-extinctions
()  Over-exploitation
‘(4)  Alien species invasion

25
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109.
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111.

Z
Frefefaa & @ B9 T o T T &2
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T Tl h! TRedfieh f3an o wetereg 3e=
et wewh! g R Bt ®
@ 9o WRYY, TS LY Sl § W HW g

A T ¥

Tgd AR Sl % TRATHT TH T4 % TR
R SAHRA T e € 7y It Wi F R
F FIA TH TET-T(eHh qfdewt J A0 o5
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I S fo=1 T RS T 9 TEE U
Fd T I T/ HehiE SR Hea § '
ST 1 R T AR 2

(1) YarEet St Wy

@ wES F i arl w8 S

() FHSI HSHAY FRI HehH

@) hwel § AR SISt Sl T - A
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T §?

®)

@)

(1) A A M T @ % fen e R

. SR

P W AR (RR o) F W am F g
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114.

115.

116.

117.

118.
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Analogous structures are a result of :

(1)  Shared ancestry

(2)  Stabilizing selection

(3  Divergentevolution

(4) Convergentevolution

Which of the following most appropriately describes
haemophilia ?

(1)  Chromosomal disorder

(@ Dominant gene disorder -
(3)  Recessive gene disorder

(4)  X-linked recessive gene disorder
Cotyledon of maize grain is called :

(1)  coleoptile
(2) scutellum
(3) plumule

" (4 coleorhiza

The term ecosystem was coined by :
(1) E.Haeckel

(2 E.Warming

(3) EP.Odum

@  AG.Tansley

Which of the following features is not present in the
Phylum - Arthropoda ?

(1) Parapodia

(2  Jointed appendages

3  Chitinous exoskeleton
(4  Metameric segmentation

Which one of the following cell organelles is
enclosed by a single membrane ?

(1) Lysosomes
(2) Nuclei

(3) Mitochondria
@  Chloraplasts

Which of the following is not a characteristic feature
during mitosis in somatic cells ?

(1) Chromosome movement
(2)  Synapsis

(3  Spindle fibres

(4  Disappearance of nucleolus

112,

113.

114,

115.

116.

117.

118.

English+Hindi

TG T fere hrt S Bt § 2
() S EIH '
@ s

@ I fora s
@ SR foem %

frafafaa § § #F-w @Hwiaar o geg afw
IYG T TA B E?

(1) TR faer

(@ e S w1 feER

@  HWE! S @ faER

@) X -uge gt S # faer

WehT % [ o SS9 ! 1 el Sl & 2
1) wE-uw

@ T

@ W

@ A

TRIRTEA (i) T Had Tee FRa e o ?
o 3w

@ 3 =fif

@) I shem

@ S e
“frafafed e § § HH-91 aev R - sdiiren
T I i ?

1) URER

@ dfua i

@) wElH aREw

@ TfoEd wdEr

Trafafag § @ i 9 ST Headt wwa T Q
frmdm g2

1 TEER
(@ wEF

(@) YIS
@ eRaoew

e HiEmet § Tgam % IRE Frefafea § 9
F-T1 A T g1 < ?

() TR e

@ g

@) TFER

@ wF % e




s

=

a2 il

120.

121.

122.

123.

124,

> [EnglshHind
119

A river with an inflow of domestic sewage rich in
organic waste may resultin:

(1)  An increased production of fish due to
biodegradable nutrients.

(2  Death of fish due to lack of oxygen.

(3) Drying of the river very soon due to algal
bloom.

(4) Increased population of aquatic food web
organisms.

Which of the following is not required for any of the

. techniques of DNA fingerprinting available at

present?
(1)  Restrictionenzymes
(2) DNA-DNA hybridization

(3) Polymerase chain reaction

27

119.

120.

- | 121,

(4)  Zinc finger analysis

In meiosis crossing over is initiated at:
(1) Zygotene

(2) Diplotene
(3) Pachytene
(4) Leptotene

Which one of the following statements is wrong ?
(1)  Eubacteria are also called false bacteria.
(2) Phycomycetes are also called algal fungi.

(3 Cyanobacteria are also called blue-green
algae.

(@  Golden algae are also called desmids.

Blood pressure in the pulmonary artery is :
(1)  more than that in the pulmonary vein.
(@  less than that in the venae cavae.

(3) sameas thatin the aorta.

(4)  more than that in the carotid.

Which of the following statements is wrong for

viroids ?

(1)  They cause infections

(2 Their RNA is of high molecular weight
(3  Theylacka protein coat

(4)  They are smaller than viruses

122,

123.

124..
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125. Photosensitive compound in human eye is made
upof:

.(1)  Opsinand Retinol
(2)  Transducin and Retinene
3) Guanosine and Retinol
(4) Opsin and Retinal

126. One of the major components of cell wall of most
fungiis :
(1)  Cellulose
(2) Hemicellulose -
(3)  Chitin

(4) Peptidoglycan
127. Following are the two statements regarding the
‘origin of life :
(@) The earliest organisms that appeared on the
earth were non-green and presumably

125.

126.

127.

anaerobes. ~

(b)  The first autotrophic organisms were the
chemoautotrophs that never released oxygen.

Of the above statements which one of the following
options is correct ? .

(1)  Both (a) and (b) are correct.
(2) Both(a)and (b) are false.

(3) (a)iscorrectbut (b)is false.
(4)  (b)iscorrect but(a)is false.

128. Chrysophytes, Euglenoids, Dinoflagellates and
Slime moulds are included in the kingdom :

(1)  Fungi

(2) Animalia
(3) Monera
(4) Protista

129. Tricarpellary, syncarpoué gynoecium is found in
flowers of :

) Fabaceae
(2) Poaceae
(3) Liliaceae

(4) - Solanaceae

130. A complex of ribosomes attached to a single strand
of RNA isknown as :

(1)  Polypeptide

(2)  Okazakifragment
(3)  Polysome

4)  Polymer

128.

129.

130.
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131.

132.

133.

134.

135.

136.

In the stomach, gastric acid is secreted by the:
(1)  peptic cells

(2) acidic cells

(3)  gastrin secreting cells

(4) parietal cells

Identify the correct statement on “inhibin’:

(1)  Isproduced by granulose cells in ovary and
inhibits the secretion of LH.

Is produced by nurse cells in testes and
inhibits the secretion of LH.

Inhibits the secretion of LH, FSH and
Prolactin.

Is produced by granulose cells in ovary and
inhibits the secretion of FSH.

2
®)
)

The standard petal of a papilionaceous corolla is
also called :

(1) Vexillum
(@) © Corona
3) Carina
(4) Pappus

In bryophytes and pteridophytes, transport of male
gametes requires :

(1) Birds
() Water
3) Wind
4) Insects

Proximal end of the filament of stamen is attached
tothe:

(1) Placenta

(2) Thalamus or petal
(3)  Anther

(4) Connective

Which of the following statements about the
composition of the vapour over anideal1: 1 molar
mixture of benzene and toluene is correct ? Assume
that the temperature is constant at 25°C. (Given,
Vapour Pressure Data at 25°C, benzene =12.8 kPa,
toluene =3.85 kPa)

(1)  The vapour will contain equal amounts of
benzene and toluene.

(@) Not enough information is given to make a
prediction.

©)

The vapour will contain a higher percentage
of benzene.

(4)  Thevapour will contain a higher percentage
of toluene.
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134.

135.

136.
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138.

139.

Match the compounds given in column I with the
hybridisation and shape given in column II and
mark the correct option.

ColumnI Column II
(@  XeFg (@ distorted octahedral
(b) XeOq (it) | square planar
() XeOF, (i) pyramidal
(d) XeF, (iv) square pyr?:imidal
Code: |

@ ®& o @
@ ) @ @ @@

@ & @O @ @)
@ O @ @@ @
@ O @ @) (@

The correct statement regarding the comparison of
staggered and eclipsed conformations of ethane, is :

(1)  Theeclipsed conformation of ethane is more
stable than staggered conformation even
though the eclipsed conformation has
torsional strain.

(2)  Thestaggered conformation of ethane is more
stable than eclipsed conformation, because

staggered conformation has no torsional
strain.

(3) Thestaggered conformation of ethane is less
stable than eclipsed conformation, because
staggered conformation has torsional strain.

(4) Theeclipsed conformation of ethane is more

stable than staggered conformation, because
eclipsed conformation has no torsional strain.

Fog is a colloidal solution of :
(1)  Solid in gas

@ Gasingas

(3) Liquidin gas

4 Gasinliquid
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Tafea wifsa

W | W I
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140. Match items of Column I with the items of
Column I and assign the correct code :

Column I Column I1
(a) |Cyanide process (@) |Ultrapure Ge
(b} | Froth floatation (ii) | Dressing of ZnS
process
(c) |Electrolytic reduction | (iii) |Extraction of Al
(d)|Zone refining (iv)|Extraction of Au
(v) |Purification of Ni

Code:

@ O @ «@
®» @O @ @) @)
@ (@) & © @
@) (v) (@) () @)
@ @ @ O ©

141. Which is the correct statement for the given acids ?
(1)  Phosphinic acid is a monoprotic acid while
’ - phosphonic acid is a diprotic acid.
(2) Phosphinic acid is a diprotic acid while
phosphonic acid is a monoprotic acid.
(3)  Bothare diprotic acids.
(4)  Bothare triprotic acids.

142. The correct thermodynamic conditions for the
spontaneous reaction at all temperaturesis:
(1) AH<Oand AS>0
(2 AH<0andAS<0
() AH<0and AS=0
49 AH>0andAS<0

143. Which one of the fo].lowing statements is correct
when S0, is passed through acidified K,Cr,O,
solution ?

(1) SO,isreduced.

(@  Green Cry(SO,), is formed.
(3) Thesolution turns blue.

(@)  The solution is decolourized.

144. The correct statement regarding RNA and DNA,
respectively is :

(1)  The sugar component in RNA is arabinose
and the sugar component in DNA is ribose.

(20 The sugar component in RNA is
2'-deoxyribose and the sugar component in
DNA is arabinose. '

(3)  The sugar component in RNA is arabinose
and the sugar component in DNA is
2’-deoxyribose.

(4)  The sugar component in RNA is ribose and

- the sugar component in DNA is
2’-deoxyribose.

140. Y 1 % SeorE F W 11§ I ¥ e | vt
WW%
WY1 WY
@) [arrmes wom O [ofrgrn Ge
(b) | ¥ wrer faf (1) | 7ns =1 wamm
(©) |foree srgmestt svqrae | ()| AL o Fsfor
(d) | dear it (V)| Au =1 frrepdor
(V) [Ni =1 9=
g :

@ ® @ @

® O @ @) @)

(@ @) @) & @

@ @ @ @) @

@ @ @ @O
141, Trafafaa # A =9 @ wuA @ ™ orall % fod v
Tw?
C (1) RITERE TR TR T R Welfth HeRfe

T et et €1

(@ iR ova el ot § safs wiene
T TR T T

@) g s j1

@ < et et R

142, T F9 | fufem ¥ waqeke ¥ D o
SRS 94 € ¢
(1) AH<OTHIAS>0
@) AH<0JAAS<O
(3) AH<O0THAS=0
@) AH>0THIAS<0

143. Trafafad & ¥ SR W w9 6 § 96 50, ) i
K,Cr,0, % foaee & | v fFar s & 2
1) SO, sgafyd a1
(2) ®CrySO,), TR
@) faere ien vs g1
@ oo (RE & wwr
144. RNA Td DNA % ford O %o %A9: € :
(1) RNA # o wesw siifsq § ok DNA &
T W1 TEAI B
@) RNA¥ w&Q w2 2 -fesiriazag sk DNA
T Wi v atfera 71
(3) RNA # viU uew sifody § 3k DNA &
T T 2 -Feeifaiga €1
(4) RNA ¥ 7 525 TgEIN € 3R DNA # W&
Hew 2’ -fesiiaigad § |
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' 145. Which of the following reagents would distinguish | 145. f/= % @ &\ @ SfwFds fog-grTN=i-1,

cis-cyclopenta-1, 2-diol from the trans-isomer ?

I 2- ST To THF Zia-FHrEgt 3 4 F4m ?
1 0 MnO, (1) MnO,
il (20  Aluminium isopropoxide @ UgHtEd AREYEEES
(3)  Acetone ®) psirict
(4 Ozone ' @ INF
146. The correct statement regarding a carbonyl 146, FHrifer AT A o e W EIS Sufer g,
compound with a hydrogen atom on its alpha- FiRT@ T
carbon, i : . (1) it A R o~ gEgeT T
(1)  acarbonyl compound with a hydrogen atom IUfeerd ], 9 T STIEY T § mEEt W
onits alpha-carbon rapidly equilibrates with ; ; T e
its corresponding enol and this process is A8 T A
known as carbonylation. FeAr el -
(2)  acarbonyl compound with a hydrogen atom @ =hrit-et Aiftich SFH o-H1H R R Rt
onits alpha-carbon rapidly equilibrates with IUFEA ], 98 SToh TTEU AT H AWHT
its corresponding enol and this process is ; g
known as keto-enol tautomerism. e § 2N ¥ AR 7 v ¥
3) bonyl compound with a hyd fonit ° S P €1
a carbonyl compound with a hydrogenatom |~- v Rl f
on its alpha-carbon never equilibrates with @) o ‘T(Fl%él»l T
its corresponding enol. Sufeerd ®, 9% T9h 3TIEY $Afel § FW o
(4)  acarbonylcompound with a hydrogen atom ey ¥ g e ¥
onits alpha-carbon rapidly equilibrates with @ e A T o~ e W SRS ITH
its corresponding enol and this process is f =% et 3 R
known as aldehyde-ketone equilibration. g, ‘&rg 1 ¥ ¥
e § 29 ¥ o 7w R UesERs -
~ IS TR el © |
1 147.  At100°C the vapour pressure of asolutionof 6.5gof | ¥
1 a solute in 100 g water is 732 mm. If K, =0.52, the . .
| boiling point of this solution will be : 147. T&F 6.5 g fooia #1100 g 571 H foIera 1 100°C
1)  102°C aTWE:IE[732mm%| g Ky, =0.52, @ 39 e =
5[ @ 103°C ?3”“'*0'5;’1; :
Hi ° 1 °
\' @ 10rc @ 103°C
i @ 100°C @) 101°C
| 4 100°C

| 148. Consider the nitration of benzene using mixed conc.

1 ;: H,;S0, and HNOS. If a large amount .of KﬂSO4 is | 148. W B AT i HZSO?'QH' HNOSE'?W
; added to the mixture, the rate of nitration will be : AR @ afe g faga Y SRy 90 | KHSO
| (1)  unchanged STed § A AR T AT W
| @  doubled (1) et
1 @) faster @ T
i ‘li‘ 4) slower (©) Lkl
| @ =
s it el R VRS RN
1) 10~ atm & ﬁﬁlzqﬁ?:m H,eE ® :
~Y atm
@ 107%atm 8 10~4 atm

(3) 1074 atm
@ 10-12 atm

3) 10-4atm
@ 10712atm
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150.

151.

152.

153.

154.

The correct statement regarding the basicity of
arylamines is :

@)

Arylamines are generally more basic than
alkylamines because of aryl group.

(2)  Arylamines are generally more basic than
alkylamines, because the nitrogen atom in
arylamines is sp-hybridized.

{3) Arylamines are generally less basic than
alkylamines because the nitrogen lone-pair
electrons are delocalized by interaction with

the aromatic ring 1 electron system.

@

Arylamines are generally more basic than
alkylamines because the nitrogen lone-pair
electrons are not delocalized by interaction
with the aromatic ring 7 electron system.

In a protein molecule various amino acids are linked
together by :

1)
&)
3)
(4)

peptide bond
dative bond

" a- glycosidic bond
B - glycosidic bond

Consider the molecules CH,, NH; and H,O. Which
of the given statements is false ?

(1) TheH-O-Hbond angle in H,O is smaller
than the H— N~ H bond angle in NH;.
The H—C—H bond angle in CHy is larger
than the H—N ~H bond angle in NH;.

2

(3) The H-C-H bond angle in CHy, the
H-N-H bond angle in NH;, and the
H—-O-H bond angle in H,O are all greater
than 90°.

4  The H-O—-H bond angle in H,O is larger

than the H~C—Hbond angle in CH,.

Which of the following statements is false ?

(1)

Ca?* ions are not important in maintaining
the regular beating of the heart.

(2)  Mg?* ions are important in the green parts
of plants.

(3)  Mg2* ions form acomplex with ATP.

(4  Ca?* ionsareimportant in blood clotting.

Which one of the following orders is correct for the
bond dissociation enthalpy of halogen molecules ?

(1) Bry,>L>F,>Cl,
(2) F;>Cl>Bry>1,
(3 I,>Br,>CL>F,
4 CL>Br,>F,>1,
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Z

T F eehar o 'l Fu &

@ tfta sy & FRe tduddn e
Uemertdi= A s ey 7

@ R e teweiHE @ s aiE
? it YW= & Aggrer WA sp-veta
4

@) WieuHE aea: AEeatHE @ w9 g
Bt & FfF TS & THIHT - T FeR
WA 90 % - TR % o fareenfim
N F

@ CioHE I Yenatii 4 ST aRY
Bl & iR ARG & ThIh - T e
Tifes a@d ¥ - T & WY fawfim
7 o T

T &1 & = Ui o AR @A

Q) AT WY % gR

(2) T Y F GRI

@) o-TARKIGISH AU & GRI

@ B-TEEFIAlE®H ITEY F g

CH,, NH, iR H,0 s1jst % fad = i 7 s

T { T o §?

(1) H,O ¥ H-O-H ¥EY-FW, NH, ¥

"H-N—H Seg-$m § w7 ¥

() CH, ¥ H-C-H ¥&Y-31, NH, H
H-N-H #EY-H0§ sy §)

@ CH, § H-C-H 3EY-%1, NH; ¥
H-N-H SEY-S0aNH,O0HH-0~H
Y-, gt ¥ 90° | A 71

@ HO ¥ H-O-H 3Ey-Fw, CH, ¥
H-C-H Ey-%m § aifes 1

frrafafas § | % 1 Fo o §2

(1) Ca2+ 379 & i H Frafa W@ ® weayel
T 7

(@ Mg2+ TR Wi % TfiE vl & ford weergol
?

@) Mg2+ 3T LA, F WY HHA o ¥ |

(4 Ca2* I Wa 9 & T Agayl ®)

frrfafaa 9 @ =1 3 teiem STt it sty fadiem

et F R w22

1) Br,>1,>F,>Cl
2) F,>Cl,>Br,>I,
@) L,>Br,>ClL,>F,

)

Clh>Br,>Fy>1,
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The rate of a first-order reaction is 0.04 mol[~1s~1
at'10 seconds and 0.03 mol -1 s—1 at 20 seconds
after initiation of the reaction. The half-life period
of the reactionis :

(1) 441s
(2 541s
3 241s
@ 341s

Which one given below is a non-reducing sugar ?
(1) Glucose
(2) Sucrose
(3) Maltose
(4 Lactose

w

Which one‘of the following characteristics is
associated with adsorption ?

(1) AGand AH are negative but AS is positive
(2) AGand AS are negative but AH is positive

(3) AGisnegative but AH and AS are positive- . |

(49  AG, AHand AS all are negative

Two electrons occupying the same orbital are
distinguished by :

(1) Azimuthal quantum number

(2) Spinquantum number

(3)  Principal quantum number

(49  Magnetic quantum number

Lithium has a bcc structure. Its density is
530 kg m~3 and its atomic mass is 6.94 g mol 1.
Calculate the edge length of a unit cell of
Lithium metal. (N4 =6.02x102 mol~1)

(1) 527pm
@ 264pm
3 154pm
4 352pm

The pair of electron in the given carbanion,

CH3CEC@, is present in which of the following
orbitals ?

1) sp?
@ sp

3 2p
@ sp®

The prdduct obtained as a result of a reaction of
nitrogen with CaC, is :

(1) CaCNg
@ CaN
@) Ca(CN),
4 CaCN

English+Hindi

155. T Wom e 9 SrRfea w3 iR yow B

156.

157.

158.

159.

160.

161.

F 10 sec A€ 0.04 mol [=1 s~1 GUT 20 sec =TT
0.03 molI-1s~1 B 3@ stfufsran A o1 o1y e
g

1) 441s
2) 541s
@) 241s
@ 341s

71 7 @ e w IR-TeEE PR R ?
n TN

@ T
@) W
@ R

Frfafea @l § @ 39 @ ey & g=fer
??

(1) AGUTE AH FOTHS A AS LT Bl &
@)  AG qU1AS FUTeTs et AH SATeH Bl &
(3) AG FUTHS AT AH T AS €I & &
()  AG, AHTH AS Tt Homeis 8 ¥ 1

A W I F @ Fuew § €1 T o feae
TR foman S TehaT §2

) fidra Faien den

() YERY FEEH &l

() TS wicH §EAl

@) TEEE e G

faf=m # bec WA R THI ¥ 530 kg m—
AT I I 6.94 g mol~1 ® 1 faferaw ug :

T HITSH & HR 6 T=E ©

(N, =6.02x 102 mol~1)

1) 527 pm

(2 264pm

3 154 pm

@4 352pm

fad 1 -, CH3CEc@%wsaag‘ﬁﬁw
o 9 fore ere o Sufea &2

1) sp?

2 sp

G 2p

@ sp?

RN F CaC, F Y TulHar ¥ wra S
(1) CaCN,

() CaCN

@) Ca(CN);
4) CaCN
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162,

163.

164.

165.

166.

167.

In the reaction

N . (1) NaNH,/ligNH; _ (1) NaNH,/liq.NH,
H-C=CH Gy ¢H, CH, Br @ CHCH,Br ¥
Xand Y are:

(1) X=2-Butyne;Y=2-Hexyne
(2 X=1-Butyne;Y=2-Hexyne
(3) X=1-Butyne;Y=3-Hexyne
4  X=2-Butyne;Y=3-Hexyne

MY and NYj, two nearly insoluble salts, have the

same K values of 6.2 X 10~ 13 at room temperature.

Which statement would be true in regard to MY and

(1)  The salts MY and NY; are more soluble in
0.5 M KY thanin pure water.

(20  The addition of the salt of KY to solution of
MY and NYj; will have no effect on their

solubilities.

(3  The molar solubilities of MY and NYj; in
water are identical.

(49  The molar solubility of MY in water is less
than that of NYj.

When copper is heated with conc. HNO; it
produces:

(1)  Cu(NO,), NOandNO,
(2) Cu(NOj),and N,O
3) Cu(NOj),and NO,
@) Cu(NO,),and NO

The product formed by the reaction of an aldehyde
with a primary amine is :

(1) Carboxylicacid

(2) Aromaticacid

(3)  Schiff base

4) Ketone

The addition of a catalyst during a chemical reaction
alters which of the following quantities ?

(1)  Enthalpy

(2) Activationenergy
(3) Entropy

(4) Internalenergy

Predict the correct order among the following :

(1)  bond pair - bond pair > lone pair - bond pair
> lone pair - lone pair )

(@  lone pair - bond pair > bond pair - bond pair
> lone pair - lone pair

(3)  lone pair - lone pair > lone pair - bond pair >
bond pair - bond pair

(4)  lone pair - lone pair > bond pair - bond pair >
lone pair - bond pair
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Zz
Fifuferan &
(1) NaNH,/ligNH; __ (1) NaNH,/liq.NH,
H-C=CH Gorow, o, Br @ CH,CH,Br V
X3y ®:

1)  X=2-FFEA;Y =2

@ X=1-TG; Y = 2-RFAH

(@) X=1-<REA;Y =3-3F8T

() X=2EA;Y =3-¢FAE

MY TS NY, 3 T e el 1 A a9 |

K,, 19, 62x10-BTHEHA Y| FEA AR I ®

FUT MY T NY, % G § @t 8 ?

(1) MY W NY, ¥ 7@ [& oA B gon |
05 MKY ¥ v faera R .

@ KYWEUH MY T NY, F e § smiw
! e R g vwe T vem ¥

(@) MYTE NY, t 5dt § e facraa w6

@ MY® v § AR faead Ny, § F7 )

I A R HNO, F | T 3 TR &1 8 2

(1) Cu(NO,), NOIRNO,

@) Cu(NOj),3RN,0

B Cu(NO,),3RNO,

4) Cu(NO,),3RNO

Uesere @ wafas TiF it sifufran & a1 SR

2:

(1) wEiFEaE o

@ fEE o

@ fgiw

@ f&m

Tt Tamafer sifufsan % saRe & 9 & Foafafea
H A FF o A a5t }2?

q

@ ufw st

@ T

@) AR e

ﬁﬂﬁ'@'ﬂﬁmm:

(1) ST g - A R > THEH g ~ STt
T > THEH FH - THH I

@@ TG - e g > ST I - et
g > Tl T - TR I

(3) TR H-THE TH > TR FTA-IEH
T > et g - emEdlt g

4) THER G - T T > L I - e
TH > TEHH TH - A gH
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Consider the following liquid - vapour equilibrium.
Liquid == Vapour

Which of the following relations is correct ?

1) AT2 T2
dinP _AH,
dinG _ AH, -
® 41> RrY?
. dinP _ —AH,
) dT RT
Which of the following biphenyls is optically
active? =l
I .
0
I “
CH;
®
CH,
O,N
o (O
I
Br Br
)

dinP _ —AH,

Which of the following statements about hydrogen
is incorrect ?

(1) Hydronium ion, H;O* exists freely in
solution,

(@  Dihydrogen does notact as a reducing agent.

(3) - Hydrogen has three isotopes of which tritium
is the most common.

(@) Hydrogen never acts as cation in ionic salts.

[Engish+Hind]
| 168. = & 1A g9 - =TT AR,
| T = 9%
AP T HTITH & ?
dlnP _ -_-AHv
1 AT? - T2
dinP  AH,
@ T T Re
dinG _ AH,
@ 412 RIZ
dinP _ —-AH,
@ T T TRt
169. =1 ¥ Q FF T TRiETEe TR Wieg § 2
_ I
o (O
I
CH3 ,
o (0
ha ' : CH3
U oN
®
I
Br Br
o (=<
/.
I
170. Tr=fafEa § @ =9 @ FU9 TESNH & ol e
??
(1) TESFEE 3, HO+ % Afce faee o
o ¥4 H B 7 |
Q) ereEeNE e e Y wE T e
@) TEENH & o wwentie § fad | gafeaw
 ggE R
@) SIS AT Savl ¥ YA 1 aRE SRR
& R




171. Theelectronic conﬁg;';rations of Eu (Atomic No. 63),
Gd (Atomic No. 64) and Tb (Atomic No. 65) are:

37

1) [Xe]4ro5dles?, [Xe]4f75d16s2 and
[Xel4f 85d16s?
(2  [Xel4f76s? [Xel4f 75d16s? and [Xe]4f %6s?
(B)  [Xel4f76s? [Xe]4f® 6s2 and [Xe]4f®5d16s2
(@  [Xe]4ro5dles? [Xeldf75d16s2 and [Xe]4f96s2
172. Thereaction
Me
oD
can be classified as :
(1) Dehydration reaction f
(2) Williamson alcohol synthesis reaction
(3) Williamson ether synthesis reaction
(4)  Alcohol formation reaction
173. For the following reactions :
(a) CH,CH,CH,Br+KOH—
CH,CH=CH, +KBr+H,0
HyC  CH, HC  CH,
(®) + KOH — + KBr
Br OH
w1,
(o + Br, —
© 2 Be
Which of the following statements is correct ?
(1) (a)iselimination, (b) and (c) are substitution
reactions.
(@  (a) is substitution, (b) and (c) are addition
reactions.
(3 (a)and (b) are elimination reactions and (c) is
addition reaction. '
(4) (a)iselimination, (b) is substitution and (c) is
addition reaction.
174. In which of the following options the order of

arrangement does not agree with the variation of
property indicated againstit?

@

I < Br < Cl < F (increasing electron gain
enthalpy)

(20 Li<Na<K<Rb (increasing metallic radius)

() ABt+ <Mg?* <Na* < F~ (increasing ionic
size)

4 B < C <N < O (increasing first ionisation
enthalpy)

WSt

zZ
171. Eu (9.9.63), Gd (99. 64) 3 Tb (t{z:r 65) ¥

R e ?

(1) [XeJar65dles?, [Xeldf 75d16s2 3R
[Xe]4f 85dl6s?
(@  [Xelaf76s2, [Xel4f75dl6s2 3R [Xe]4f96s2
B)  [Xeldf76s2 [Xelds® 652 3R [Xelaf85d16s2
@)  [Xeldf65dl6s2, [Xelaf75d16s2 3R [Xeldf %652
172. fufwan _
D-on st (D 0"
Y Fliga o S W S
O Tttt stfufean
@ ffaw tere G Afufwa
@ fafemw o deer sfifear
B @ Uewea fate sfufea
173. oot stfuteasii o o -
(@ CH,CH,CH,Br+KOH—
CH,CH=CH, +KBr+H,0 .
H;C  CH, H,C_ CH,
@ + KOH — + KBr
’ Br OH

fEAdd s wFE A R?

1) (a) Tactw s, (v) 3iit (o) wiaeara
arfufrand €

@ ()R, (b) 3R (o) At fuframd € 1

@)  (a) 3R () faehi sfufand € aur (o) drw
FfufFm §1

@ (o foreie e, (b) S stufe ok
ORASEERES

174. Trefafes 8 @ 9 w9 1@ 1 et % gftads
¥ STTAR TEHd T ¢ ?

(1) I<Br<Cl<F (a0 g T afsy Tdwit)

@ LiéNa<K<Rb(a@ﬁ§§uﬁ$ﬁw) _

() AB*<Mg2+ <Nat <F~ (950 g2 s
R

(@) B<C<N<O (g1 yus A wied)
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Equal moles of hydrogen and oxygen gases are
placed in a container with a pin-hole through which
both can escape. What fraction of the oxygen escapes
in the time required for one-half of the hydrogen to
escape ?

® 3/8
@ 12
@ 1/8
@ 1/4

Among the following, the correct order of acidity
is:

(1) HCIO,<HCIO < HCIO, < HCIO,
2) HCIO, <HCIO, < HCIO < HCIO,
(3)  HCIO, <HCIO, < HCIO, < HCIO
4 HCIO <HCIO, < HCIO, < HCIO,

Which of the following is an analgesic ?

(1) Streptomycin

(2  Chloromycetin

(3) Novalgin

4) Penicilin *

Natural rubber has :

(1)  Alternatecis - and trans-configuration
¥a) Random cis - and trans-configuration
(3)  Allcis-configuration

(4) Alltrans-configuration

The ionic radii of A* and B~ ions are
0.98x10-19 m and 1.81x10~10 m. The
coordination number of each ion in ABis:

®n 8
@ 2
@ 6
@ 4

Which of the following has longest C—~O bond
length ? (Free C~O bond lengthinCQis1.128 A )

1) [Fe(CO)J?~
@  Mn(CO)J*
@) Ni(CO),

@  [Co(CO),I°

-00o0-
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BEEISH e stiadioH Tl % w@E Al =1 wh T |
T TR, S o O e TR & g IR R wend
T TES & oMY veeH ® o T W s
oo 37 Jerrad e ?

O 3/8

@ 1/2

@ 1/8

@ 1/4

frAddsrem s FA R

(1) HCIO,<HCIO < HCIO, < HCIO,

() HCIO, < HCIO, < HCIO < HCIO,

(3) HCIO; <HCIO, < HCIO, < HCIO

(4) HCIO <HCIO, < HCIO, <HCIO,

e ¥ | = € < Ut deRi § 2

1) W

@ TEEEE

@) AeatE

@ uffafe

Q'I'GEW TR H :

1) TERRR-wE e R

@ efafe fg-we gie-famm R
@) wft fo-fama ¥

@ ot Te-fa=mE gl

A* T B- EN w1 b ] wEen
098%x10- 10 m TE1.81x10- 19 m &1 AB ¥ W&

ST H SUEEHAISH & §
1 8
@ 2
@) 6
@ 4

frafafea § 9 ffasw ¢ — O ey v atfusman
?? (AR C-O Wy =R COH 1,128 A 1)

(1)  [Fe(CO)J?~
) [MnCO)*
@) Ni(CO),

@  [Co(cO))®

-00o-
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Read carefully the following instructions :

1. Each candidate must show on demand his/her | 1 18 1 W yaw s, fias et

Admit Card to the Invigilator.

. No candidate, without special permission of the

Superintendent or Invigilator, would leave his/
her seat.

. The candidates should not leave the

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where
a candidate has not signed the Attendance

Sheet second time will be deemed not to have | -

handed over the Answer Sheet and dealt with
as an unfair means case.

. Use of Efectronic/Manual Calculator is

prohibited.

a

. The candidates are governed by all Rules and

Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules
and Regulations of the Board.

. No part of the Test Booklet and Answer Sheet

shall be detached under any circumstances.

. The candidates will write the Correct Test

Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.

wag-=htS feand |

. e 1 Frlees =t foww ormfa & fomn =i

el AT T 5 IS |

. wEdw s i 3Tu S 1S feu famn g

Suferfa-ooes T gan geaeR fore fomn o wlened
wen g T S 1 aig fwe vhendl 3 gl W R
Iafeufa-ses T BweR e foR T #% A S
ﬁwﬁwuﬂﬁm%aﬁwqﬁa‘jﬁamm
1 AR W SO |

. TAIT / wRaater UieReTeR 1 Syan afstd ¥

. qhe-gid § 2= % fow wenet i€ & gl w

fafrasi gro Frafa €1 erafad wem & wdt Amei

e A 3 ol o bt % srgar @

. Tpelt et o wde qfeent SR ST H AR o

TS 1 &

. Tlen gftaest / A us | U 7T wlen giaent Sa

1 Tl weét wld A suffs-w | fad |
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